

Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

# State of West Virginia **Delivery Order**

Order Date: 03-21-2023

CORRECT ORDER NUMBER MUST APPEAR ON ALL PACKAGES, INVOICES, AND SHIPPING PAPERS. QUESTIONS CONCERNING THIS ORDER SHOULD BE DIRECTED TO THE DEPARTMENT CONTACT.

Order Number:	CDO 0231 0231 OOT2300000001 2	Procurement Folder: 1117011
Document Name:	CO1: Data Center 2.0 9-Month Capacity (OT23032)	Reason for Modification:
Document Description:	CO1: Data Center 2.0 9-Month Capacity (OT23032)	Change Order 1 is issued to update Vendor name.
Procurement Type:	Central Delivery Order	
Buyer Name:	Toby L Welch	
Telephone:	(304) 558-8802	
Email:	toby.l.welch@wv.gov	380
Shipping Method:	Best Way	Master Agreement Number: CMA 0231 OOT2200000002 2
Free on Board:	FOB Dest, Freight Prepaid	

		VENDOR		KRE III FIE		DEPARTMENT CONTACT
PERA	<b>lor Customer Code:</b> ATON ENTERPRISE S 5 WORLDGATE DR	00000022429 SOLUTIONS LLC	7		Requestor Name: Requestor Phone: Requestor Email:	Andrew C Lore 304-352-4944 andrew.c.lore@wv.gov
HERI US	NDON		VA	20171		
	lor Contact Phone: ount Details:	999-999-9999	Extension	1:	2:	3
	Discount Allowed	Discount Perc	entage	Discount Days	FILE	OCATION
#1	No	0.0000		0	114-6	.oomion
#2	No					
#3	No					
#4	No					

	INVOICE TO		IP TO
DEPARTMENT OF ADMINISTRA	TION	WV OFFICE OF TECHNOLOGY	
OFFICE OF TECHNOLOGY		BLDG 5, 10TH FLOOR	
1900 KANAWHA BLVD E, BLDG	5 10TH FLOOR	1900 KANAWHA BLVD E	
CHARLESTON	WV 25305	CHARLESTON	WV 25305
us		us	

Purchasing Division's File Copy

**Total Order Amount:** 

\$1,381,062.99

ENCUMBRANCE CERTIFICATION
DATE: Swelly Toke 3-21-23

**ELECTRONIC SIGNATURE ON FILE** 

Date Printed: Mar 21, 2023 Order Number: CDO 0231 0231 OOT2300000001 2 FORM ID: WV-PRC-CDO-002 2020/05

#### **Extended Description:**

Change Order 01

Change Order No. 01 is issued for administrative purposes only and is intended to change the name of the vendor from Perspecta Enterprise Solutions LLC (V/C account 000000224297) to Peraton Enterprise Solutions LLC (V/C account 000000224297). The original contract, including all terms, conditions, prices, specifications, and change orders contained therein remain in full force and effect.

Effective date of change: 01/24/2023

No other changes.

Line	Commodity Code	Quantity	Unit	Unit Price	Total Price
1	81110000	9.00000	LS	\$30,268.7100	\$272,418.39
Service From	Service To	Manufacturer		Model No	Delivery Date
					2022-09-29

**Commodity Line Description:** 

Tier 0 Solution - Base

#### **Extended Description:**

Please see Exhibit A Pricing Page for pricing information.

Line	Commodity Code	Quantity	Unit	Unit Price	Total Price
2	81110000	9.00000	LS	\$40,689.0000	\$366,201.00
Service From	Service To	Manufacturer		Model No	Delivery Date
					2022-09-29

**Commodity Line Description:** 

Tier 0 Additional Node

#### **Extended Description:**

Please see Exhibit A Pricing Page for pricing information.

Line	Commodity Code	Quantity	Unit	Unit Price	Total Price
3	81110000	9.00000	LS	\$28,972.8000	\$260,755.20
Service From	Service To	Manufacturer		Model No	Delivery Date
					2022-09-29

**Commodity Line Description:** 

Tier 0 Performance Storage Expansion

#### **Extended Description:**

Please see Exhibit A Pricing Page for pricing information.

Line	Commodity Code	Quantity	Unit	Unit Price	Total Price
4	81110000	9.00000	LS	\$4,719.6000	\$42,476.40
Service From	Service To	Manufacturer		Model No	Delivery Date
					2022-09-29

**Commodity Line Description:** 

Tier 0 Volume Storage Expansion

#### **Extended Description:**

Please see Exhibit A Pricing Page for pricing information.

 Date Printed:
 Mar 21, 2023
 Order Number:
 CDO
 0231
 0072300000001
 2
 Page:
 2
 FORM ID: WV-PRC-CDO-002
 2020/05

Line	Commodity Code	Quantity	Unit	Unit Price	Total Price
5	81110000	9.00000	LS	\$22,712.0000	\$204,408.00
Service From	Service To	Manufacturer		Model No	Delivery Date
					2022-09-29

**Commodity Line Description:** 

Enterprise Data Backup Base (150TB)

#### **Extended Description:**

Please see Exhibit A Pricing Page for pricing information.

Line	Commodity Code	Quantity	Unit	Unit Price	Total Price
6	81110000	9.00000	LS	\$23,020.0000	\$207,180.00
Service From	Service To	Manufacturer		Model No	Delivery Date
					2022-09-29

**Commodity Line Description:** 

Enterprise Data Backup Expansion (50TB)

**Extended Description:** Please see Exhibit A Pricing Page for pricing information.

Line	Commodity Code	Quantity	Unit	Unit Price	Total Price
7	81110000	6.00000	LS	\$4,604.0000	\$27,624.00
Service From	Service To	Manufacturer		Model No	Delivery Date
					2022-09-29

**Commodity Line Description:** 

Enterprise Data Backup Expansion (50TB)

#### **Extended Description:**

Please see Exhibit A Pricing Page for pricing information.

Date Printed: Mar 21, 2023 Order Number: CDO 0231 0231 OOT2300000001 2 FORM ID: WV-PRC-CDO-002 2020/05 Page: 3



## STATE OF WEST VIRGINIA **DEPARTMENT OF ADMINISTRATION**

### OFFICE OF TECHNOLOGY

Mark D. Scott Cabinet Secretary

State Capitol Charleston, West Virginia 25305

Joshua D. Spence Chief Information Officer

TO:

Toby Welch

Senior Buyer, Purchasing Division

FROM:

Andrew Lore

WVOT Procurement & Business Services Manager/ISMIII, West Virginia Office of

Technology

SUBJECT:

Agency Request Memo for CDO OOT23\*01 CO#1 (OT23032)

DATE:

March 21, 2023

The West Virginia Office of Technology (WVOT) is requesting approval for the above delivery order in order to update it to the new Vendor name so payments can be made. The Master Agreement was reassigned to Peraton Enterprise Solutions LLC, and now the WVOT is modifying all orders under the agreement to render payment.

Please let me know if you need anything further to support this request.